ST. LAWRENCE HIGH SCHOOL
A JESUIT CHRISTIAN MINORITY INSTITUTION

o ot . First Term Test - 2018

Sub : Arithmetic Class:3A,B&C : F.M.: 35
Duration : 1hr 30 mins Date :23.04.2018

(Marks will be deducted for untidy work, and work not done in systematic manner).

SECTION - A
1. Fill in the blanks:
a) 90+ 100 = (1x8=8)
b) 14tens+9ones=
c) __+999=1000
d) - 25 =100
e) 70+80=_ + 50
f) 160+160 = _tens
a) -30=30
h) 3 more than 187is
SECTION-B
2. Write in figures: (1+1=2)
a) Three hundred and fifty
b) Nine thousand and sixteen
3. Write in expanded form: (1+1=2)
a) 94 =
b) 1342 =
4. Write the numbers in ascending order: (2)
479, 8175, 1732, 1719
5. Write the numbers in descending order: ' (2)
367, 876, 768, 1719
6. Add: ThHTO (2)

5 6 34
+ 1. 298




7. Subtract ThHTO (2)
9 752 |
— 1 178

SECTION-C
- 8. Subtract and verify (6)
6532 - 3645

9. In a godown, there Were, 8725 bags of brinjal, 3429 bags of potatoes and 1569 bags of tomato. How
many bags of vegetables were there in all? (5)

10. Total population of a city is 8950. 3400 are men and 2900 are women. How many children are there? (5)
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SECTION - A
1. Fill in the bianks: (1x8=8)
a) 90 + 100 = 190
b) 14 tens + 9 ones = 149
¢) 1+999=1000
d) 125-25=100
e) 70 +80 =100 + 50
f) 160+160 = 32 tens
g) 60-30=30
h) 3 more than 187 is 190
SECTION-B

2. Write in figures: (1+1=2)
a) Three hundred and fifty - 350

b) Nine thousand and sixteen - 9016

3. Write in expanded form: (1+1=2)
a) 914 = 900+10+4

b) 1342 = 1000+300+40+2

4. Write the numbers in ascending order: (2)

479, 8175, 1732, 1719: 479, 1719, 1732, 8175

5. Write the numbers in descending order: (2)

367, 876, 768, 1719: 1719, 876, 768, 367

6. Add: ThHTO (2)
5 6 34
+ 1 298

6 932
Ans.:6932



7. Subtract ThHTO 2)

9 7 5 2
— 1178
8 574
Ans.: 8574
SECTION -C
8. Subtract and verify (5)
6532 - 3645
Subtract: ThHTO
6 5§32
3 6465
2 887
Verify: ThHTO
3 645
+ 2 887
6 53 2

Ans.: 2 8 8 7 (Verified)

9. In a godown, there were, 8725 bags of brinjal, 3429 bags of potatoes and 1569 bags of tomato. How

Many bags of vegetables were there in all? (5)
Th H T 0

Number of bags of brinjal.........c.cccuuunnee =8 7 25

Number of bags of potatoes................. = 3 4 29

Number of bags of tomatoes................. =+1 5 6 9

~Total number of bags.....onvneennen™ 13 7 2 3

Ans.: There are 13, 723 bags of vegetables in all.

10. Total population of a city is 8950. 3400 are men and 2900 are women. How many children are there? (5)

Number of MeN....cccviesrvaresresssrsresssrenne = 0 0
Number of Women......mmsmmmenene = +2 9 00
~Total number of men and women........ = 6 3 00



Total population.......csmernssesmnne =
Number of men and women.........oureeennne =
* Number of children ............................... =

Ans.: There are 2650 children.
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